Geometry A Name: \(exj

Quiz Review 1.4-1.5 Date: Period:

For the Quiz Friday, you should be able to:

Identify parts of an angle {Section 1.4)

Name, measure, and classify angles (Section 1.4)

Use Angle Addition Postulate to find measures of angles {Section 1.4)

Use angle bisectors to find measures of angles {Section 1.4)

Identify adjacent angles, complementary angles, supplementary angles, vertical angles, and
linear pairs. (Section 1.5)

Find measures of complementary angles, supplementary angles, vertical angles, and linear pair
angles. (Section 1.5and 2.7)
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1. Use the diagram below to complete the following:

a) Give 3 names for the angle.

“NQT, LTQN, <Q N
b) Identify the vertex of the angle. T
Point Q @
c) Identify the sides of the angle.
- =
AN, QF

2. Use the diagram to find the measure of each angle and classify the angle.

a) meDEC=_40" | Right

o) meDEA=_ 180" shanght

o mecEB=_20°  qust

d) mepEB=_N0°  Obtute

3. Extend the rays as needed. Use a protractor to find the measure of the given angle. Then
classify the angle as acute, obtuse, right, or straight.

a) meJFL=_90" r'\.(.liht H
G
b) msGFH = __ Q" At
F
/IL

-
o meGFK=_1%%" ,  olbruse d

d) meGFL=_\80° Stroigi




4. Find the indicated angle measures.

a) mzQST=_ 94" b) meADC = __ 69 ¢) meNPM = _\O\°
A 0 L P M
. 71° = —— 750 e
' N stranght
B C N ang W
S v o
Eaqu":qqo ah“Ht'og 180‘1‘1 d \OI
5. Given msFJH = 168°, find m2FJG.
G Lttler liirle =byg
o 157 o ox-Lh + XH = ¢ m<FI6 = 6(29) 15
-
F e 1x-1=1b¥ CF)Ge ‘e)
J ‘bg H m \39
=6 Dx2 |

6. Given that WZ biéééﬁé}XWY, find the measure of ZXWY.

5 - L eath half 1§ the Same
52°

52° MLXNY < 52+52
W ¥ WMEXWY < M“/

7. Given that BD bisects 2ABC, find m2ABC.
7 §x-3 =31 l§ MeABC =7 §+18

“180 X-az\Y lmLPfE(F\'E)M r
(3x+18)° g

[x-a0]

8. Error Analysis KM bisects 2JKL, and msJKM = 30°. Describe and correct the error made in
stating that m£JKL = 15°. Draw a sketch to support your answer.
—
SINCE KM hasets e angg, eadn
hatb o the angle shovld e fne saMe, whidy

Mmedns 1ot eatn naté shootd be 307 Uiing e an

¢ the whole angue JEL gnpuid oe 20420 = 00"
9. In the sculpture shown in the photograph, suppose the

measure of ZLMN is 79° and the measure of ZPMN is

47°. What is the measure of ZLMP?

litethitte =buyg . .
- [meime-32']

gie addiron,

»33

meWOY = 90 60




11. In the figure, name a pair of complementary angles, a pair of supplementary angles, and a pair
of adjacent angles.

-2
Adjacent: <FGi and <k6H (snareside Gk )

Cornplenentary: <Fek and <Gkl Qinee 41449 = 90°

SUPPIIMENTTrY <6 and <Gl Sinw 1B)+44 = 1%0

12. £1and £2 are complementary angles. If ms1 = 43°, what is m«2?
melrmed=q0 S a3 +meaz a0 > [wazay]

13. 21 and £2 are supplementary angles. ff ms1 = 27° whatismz2?

M rmMe2 =180 D 21+med = (g0 D @]

14. £A and £B are complementary angles. Find the measures of ZA and £B, if mzA = (11x + 24)°
and msB = (x + 18)°.

M + ey - 4o mep s W)+ med: 4Ly
WX 24 + x 1k =90 A - 65° leb'—'aa“
e [meh-es” | [mep-ad’]

13x% = Uy ,ﬂ_x:q i

15. £A and 4B are supplementary angles. Find the measures of ZA and £B, if mzA = (2x — 20)° and
msB = (3x + 5)°.

MLA +ef - |50 mef = 2(35)-20 mep - 3(39)+5
220+ 3 =\&0 lmLA: By ® ; imz_[b 2 421° f
5A-16 16V

HR: 195 3 x=39 }
16. The measure of an angle is 3 times the measure of its complement. Find the measures of the two
angles. X = 3(90 -X)

X703 X Lts wmplement: 40-071.8 =

17., Two angles form a linear pair. The measure of one angle is 4 times the mggw

L}

angle. Find the measure of each angle. S 4y
\ —
? Y80 R oot vy 160 one angie = 36 )
X4y o g 5y =180 Ofrer angjie <190-36 = 144
equanal
Y>3

18. Error Analysis Describe and correct then error made in finding the value of x.

x° + 3x° = 180° These fwe angies are compleMentary,
4x =180 >< whion means ey shoutd add up o
=S 40° instead of 1¥0°

X+3 % =90
=40

[x-aas |

,l\ o
he angie 18 90



19. Use the diagram to tell whether the angles are vertical angles, a linear pair, or neither.

a) 2zlandz4 b) 21 and 22
vertial Lwncar Pawy
¢) <43 and 45 d) z2and £3
Neathey vernual
e) 47, 4£8,and £9 f) £5and 26 <
Nathey wnear Payy
g} <46and 47 h) £5and 29
Neathey Nethey

20. Find the measures of 2ZDEG and 2GEF.
1x-3+12x-1= 180 MePEG=1000)-3  megEF= (2010)-1

6 9% 102160 (meoec- 61 [meoer- »°

(1x -3\ iz =17, \4x =190

3 F [x-0 |

R shvalgit angle
21. In the diagram below, if m£4 = 71°, find m41, m«£2, and m«3.

\m (angle 4and 2 are verhial )
mel +me2 =80 (inear pawr ) \ me3 =109° (amg\c Land 3 are vem(,a\)

mel 4 11 =180

-

o8

21\°

3
wy*

22, Find the value of y.
\ / 5y = Ty-34
spXyr—aar -2y=-3Y

Y

23. Find the values of x and y.
§x+20+3X = 180 5y+38 - b8 (vernual angies)
H+2b=150 fy) =100

WX <164 —
D

24. Find the values of x and y. Then find the measures of each angle.

54+5:1y-9 140 +0X 160 =180
Wo's (5y+ 5)° Iy—9re-gpe 5729 6% +q0- 180
bXx=90

{6x + 50)° Ve 7.9
140° D:‘] ‘X’\G j

\am\cs‘. 407 140" 4O’ 140” I




Answer Key

1. a)2NQT,4TQN, £Q; Vertex: Q; Sides QTV and W"
2. a)90°, right b) 180°, straight c) 20°, acute d) 110° obtuse
3. a)90°, right b) 60°, acute c) 135° obtuse d) 180°, straight
4. a)99° b) 65° c) 101°
5. 135°
6. 104°
7. 156°
8. To find msJKL, ms£JKM should be doubled, not halved. m4JKL = 60°,
P A
¥ 9. 34°

10. 50°, 140°
11. £FGK and £GKL; £HGK and £GKL; LFGK and £tHGK
12. 47°
13. 153°
14. 68° and 22°
15. 58° and 122°
16. 22.5° and 67.5°
17. 36° and 144°
18. The angles are complementary so they should be equal to 90°. x + 3x =90, 4x =90, x = 22.5
19. a) vertical angles b} linear pair c¢) neither d) vertical angles
e) neither f) linear pair g) neither h) neither
20. 67° and 113°
21. 109°, 71°, and 109°
22.y=17
23. x=14,y =20
24, x=15, y=7, 140°, 40°, 140°, and 40°



